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012HE 20 FEHAL S
A 200 Mlol4gl
2210 ZAXAL 4
5 216 01X 42l (cHol:mel)
g2 0l ey & 0 4 o HIRE2
ES A 113,904 195,511 A81,607
200 Mlel==¢ 113,904 195,511 281,607
210 & A2+ 70,793 163,791 A 92,998
216 Ol Xt==¢ 70,793 163,791 A 92,998
216-02 212t = 2l =01 A== 70,793 163,791 A 92,998
< QIEAX™el L > 70,793 163,791 292,998
O JIEXYZ oINS 70,793
— ZFEXALS Ol AtaE 70,793,000 70,793
220 LA EA 2= 43,111 31,720 11,391
222 Y= 29,414 2,000 27,414
222-01 =MAL = 29,414 2,000 27,414
< QIAX™el > 29,414 2,000 27,414
O £HALS 29,414
— =AALNH= 29,414 5503 29,414
226 slt=d==+¢ 13,697 29,720 A 16,023
226-01 Slts Xtz +=¢ 13,697 29,720 A 16,023
< QIEAX™eld > 13,697 29,720 A 16,023
O JERURYS A3y 13,697

— IUFEIYS B3 13,697,000& 13,697




